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C4.1 #10

Estimate the value using the Linear Approximation to e¢® atz = 0 and then
find the error using a calculator.

e—I—G.lT

The error is 22z
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C 4.2 #7

Find all critical points of the function f(a:) = 2% — 322 — 3z in the
interval (—2,1).

The critical point(s) is/are
Find the absolute maximum and minimum values of the function f onthe
interval [—2, 1].

The absolute minimum is S
The absolute maximum is ss8
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C4.3#1

Find a point ¢ satisfying the conclusion of the Mean Value Theorem for the

following function and interval.

fle)==7°  [1,3]
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C4.4 #6

The figure below is the graph of the derivative f’ of a function f.
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Give the z-coordinate(s) of the inflection point(s) of f.
i22  help (numbers)

If there is more than one inflection pbint, enter them as a comma separated list.

On which interval(s) is f concave down? 22

help (intervals)
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2.7 #6

7/ 6247

Find the horizontal asymptotes of f(z) = —g——

(Use symbolic notation and fractions where needed. Give your answer as
comma separated list.)

The horizontal asymptotes for f(a:) are

lf(;/g : "”/6///@ .555“ help (fractions)
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4.5#7

Apply L'Hobpital's Rule to evaluate the following limit. It may be necessary to
apply it more than once.
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